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(4] The Substitution Rule If u = g(x) is a differentiable function whose range is
an interval 7 and f is continuous on 7, then

J‘f(g(x))g'(x) dx = | f(u) du
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Evaluate the integral by making the given substitution. (Use C for the constant of integration.)
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This last one isn't set up for u-substitution. It requires something
more subtle that I haven't shown you.

SIN U COS Vv [sin(u + v) + sin(u — v)]
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Click here for College Trigonometry Cheat Sheet.
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Find the derivative of the function.
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Don't Over-think it, dude!
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Evaluate the integral.
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Verify by differentiation whether the following formula is true or false

4.4 #2

/cosz(x) dx = %x + %sin(2x) +C
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